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DISCRETE STRUCTURE

Frafia @ : 3 w2) [tfereRaw 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
A () FE-FHdATIRAY fugdatd

Note : There are THREE sections A, B and C in the paper.

(ii) AT QT G 3 T 10 77 3 o AT | 579 9 W 37 %7 & v
410 9777 T[T FHR F G F 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

(iii) QT & F 8 T 4 @ 55T 6 F97) 3 I IITT | I T 3 37 T 8 v
$TH1 5 TET / 50 g 4 IR e /

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

(v) QFT & F 6 397 5 @ 557 4 397 & F BITT | I9F T 8 3 BT & va
FTHT 15 15 / 150 Y51 4 3% forg |

Answer any 4 questions out of the 6 questions in Section C. Each question
carries 8 marks and to be answered within 15 lines / 150 words.

() FEF GFT 5 G ] B FHGR T G195 FT |

Solve all the questions of a section consecutively together.
(Vi) g1 HTST3TT 8 SR 81 1 R 7 S srger & a8 |
Only English version is valid in case of difference in both the languages.
VR — T
SECTION - A
l. (i) 9 Tg= (Universal Set) fr8l TSt @ ?
() 9% Te forad v ft sraga & & (b) o' Qe fed 100 sama &

(c) U9 ETEl 8 S e (d) 3SYURE U F HIE TE
What is Universal Set ?

(a) Set having zero elements (b) Set having 100 elements
(¢) Setof all elements (d) None of the above

% (1 0f8) P.T.O.



CI4004 2 of 8) 2248
(ii) uRfira @g= (Finite Set) for¥ Fa1 ST @ ?

() &% fad ue ot sr5wa 1= &

(b) TE T Fra rawel i e Fa a
(c) =& de Rt razel i we wra T &
(d) ST HE BE T

What is Finite Set ?

(a) Set having zero elements

(b) Set having known number of elements
(c) Set having un known number of elements

(d) None of the above

(i) FRITA={1,2,3) WA B={3,4,5}, 7, d A N BH AR FTEW ?

(@ {1,2,3} b {3}
© 4,5 (d) UURE H A IS AR
Ifset A= {1,2,3} andset B= {3, 4, 5},. then the value of A N B will be
(@ {1,2,3} (b {3}
c 14,5} (d) None of the above
(iv) 3fedfesa A= [: 25 Z}Q,QWaﬁﬁwrder)wmwzﬁm ?
(@ 2x3 (b) 1x1 ,
6 2m2 (d) SWIH ™Y HE T8

If matrix A = E 25 36} , then the value of its order will be

@) “2%3 ' ) 1x1

()  2x2 (d) None of the above
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(v) T4 8 o ue wW 3egg (Column Matrix ) T 3TEX0T 8 ?

1
@ [1 2 3] b |2
3
(©) E ﬂ (d) IIFH YRS A&

Which of the following is an example of Column Matrix ?

1
(@ [1 2 3] ®) |2
3
(© E ﬂ (d) None of the above
(vi) Hﬁﬁﬁﬂ?A=B ﬂqﬁﬁWB{g g}zﬁ?ﬁA+me‘sﬁm?
00 2 2
o ] o [
© B ﬂ @ SEHAREE

If matrix A = [(1) (1)] and matrix B = B g} then value of A + B will be

0 0 2 2
o [ o [}
(©) [(1) ﬂ (d) None of the above

(vii) TT% for8 a1 T R ?

(a) TR (vertex) Td YR (edge) & THE !
(b)  FiFrEHY IuHTT

(c) “C’ WTST & TTHAIL I

(d) SHIEH A B TR

What is a graph ?
(a) Collection of vertex and edge (b) A mechanical device
(¢) Software of ‘C’ language (d) None of the above
P.T.O.
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(viii) Wb B £(x) = 2x — 5 GRI IR &, T £(0) ST HIF 1 BT 2

(ix)

(x)

@ O (b)y 2

¢ 3 @ -5

If a function is defined as f(x) = 2x — 5, then value of /(0) will be
@ O by 2

© 3 @ -5

3T %o (constant function) < gTeeTsT 8T BIAY ?

(@ y=fx)=2x%-x+3

(b) y=f@=c

© y=fG)=3+x

(d) SURE H W HIE I

What will be definition of constant function ?
@ y=f®=272-x+3

(b) y=f(x=c

© y=f(x)=3x+x

(d) None of the above

W(t)mwmmﬁzﬂwﬁﬂﬁﬁﬁwmé,ﬁt(@=%+32

I aRwTiyd ], @ t(10) T T 8N ;
(@ 50 (b) 32
© 9 (d) ITH H A HiE TE

The function (t) which maps temperature in degree Celsius into temperature in
i s 9C ,
degree Fahrenheit is defined by t(C) = T o 32, value of t(10) will be

(@) 50 (b) 32
(e} -9 (d) None of the above (1x10)
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A — ot

SECTION - B

2. %m@zwﬁwwqaﬂgaaﬁnfmm (set builder form) BT ?

What is roster form & set builder form of a set ? A3

3. ARTFA={aei0u WU B={ab,cd} &, d I8 93¢ F =1 &< B, V2 A FI

YT (subset) 8 ?
Ifset A= {a, e i,0,u} and set B= {a, b, ¢, d}, then show if set B is a subset of set A. 3)
x+3 z+4 2y-7 0 6 3y-2
4. AR | -6 a-1 0 [=| -6 =3 2c+2
b-3 -21 0 2b+4 =21 0

“éﬁ?ﬁa,b, c,x,y?f?ﬂza;'ﬂlﬁmﬁﬁﬁ{ |

x+3 z+4 2y-7 0 6 3y-2
If | -6 a-1 0 =| -6 -3 2c+2
b-3 =21 0 2b+4 -21 0
then find value of a, b, ¢, x, y and z. A3

5. ?T%A=[l 2 3}FMTB= [3—1_(1) ﬂ@,?ﬁ%ﬂmaﬁﬁm

1 3 3 -13
IfA= and B = 1 0 2 then calculate 2A — B. &)
6. SEUT% (multigraph) %! 3ET&UT Y TERIGT & THATST |

Explain multigraph with help of an example. 3)

P.T.O.
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7. w9rr (Trivial) TT% 68 gd & 7 999U |

What is Trivial graph ? Explain. 3)

8. $-Z % (In to function) T IETEVT AfEd THATT |

Explain In to function with example. 3)

9.  TWhh! (one to one) el i ITEUT Higd THESY |

Explain one to one function with example. 3

A — H
SECTION - C
10. o=l < o=l (Sets) AT B fou fag fifefF A U (AnB)=A

For any two sets A and B, prove that A U (A N B) = A. 8)

11. fernffa 3 v wqg H, 100 femeff & wm@ €, 50 3tch sa € w25 9Ft St €
T foremfef 6t g sma Hifv |
In a group of students, 100 knows Hindi, 50 knows English, and 25 know both. Find

total number of students. 8)

12. ﬁ@'ﬂﬁmqﬁaﬁ(ﬂanspose)ﬁﬁ@fﬁw% ? ITEAV |fgd UiEad ST i shi TihA

HHSET |

What is Transpose of Matrix ? Explain process of finding transpose with help of

example. ®)
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6 9
13. aﬁA=L 3}121113:[

14.

15.

2 60

o 8}%?ﬁABSﬂHﬁﬁNI

IfA= [6 9} and B = {2 4 0} , then calculate AB.
2 -3 7 9 8

2ftiee (Hamiltonian) Ta 3TRIeR (Eulerian) T bl 3eT&0l dfed THSAST |

Explain Hamiltonian and Eulerian graph with example.

Weheh s (one to one correspondence) ! foem g GHETSTU |

Explain one to one correspondence in detail.
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